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Note : English version of the instructions is printed on the back cover of this booklet.
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The full form of IP is

(1) Internet Protocol
(2) Internet Processing
(3) Intranet Protocol
(4) None of f.he above

Who developed the latest application
program WhatsApp?

(1) Mark Zuckerbefg
(2) Jan Koum and Bria_n- Acton
(3) Sir Tim Burners-Lee

(4) Bjarne Stroustrup |

‘ Google_is '
(1) Social Network
(2) Web browser -
| (3) Searcli Engine
I(4) “All of t.he above

An application program that allow
users to manage files,  folders,
network connection and search for
files and related components’is

(1) Windows explorer
(2) File Manager
(3) Internet explorer

(4j Recycle bin

524-S

3)

e i b

5.

Techniques to link two computers is

called

(1) Internet
@ LAN
(3) Intranet

) | Interface

Nudi engine provi&es'inﬁutting data
only if i:he system has :
(1) Continue Stoke font

t2) -Opeh type font

(3) .Enumérated font |

(4) None of the above.

To type primary in Nudi software
combination keys to be

pressed

(1) pHi+rtatt+mtitk -

" (2) | p+f+r+A+T+m+i+k

(3) ptr+tth+tmtitk

(4) ptr+ttm+itk
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8. 1 a volatile memory.

(1) Hard disk
(2) Random Access Memory
(3) Read Only Memory

(4)  Floppy Disk

9. The process of starting a computer is

called as

(1) Assembling
2) ILoadir;g
(3)’ Booting

(4) Warm Computer

10. Half byte 1s algo known as
(1) Bit
(@) Pixel
(3) Word

(4) Nibble

524-S -

(5)
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11.

Which unit 18 called as brain of the

Computer?
(1) Memory Unit

Central Processing Unit

@)

3) Control Unit

(4) Arithmetic Logic Unit

Which is the most popular operating

system of 2 personal computer? .
(1) Window's
(29 LINUX

3) -MAC 08

(d4) Jelly Beans

 Which of the following is not

considered as Hardware?
(lj Keyboard

(2) Hard Disk

(35 Operating system

(4) Digitizer
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16. MODEMs 053 dess

(1) Mode Emulator

(2) Minimum Emulator
- (3) Modulator-demodulator

@) S8 atpgyRe wy
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17. MS Word®g ———— &G,
e shed TRGmRNT) SR
6, OO,

(1) == 7%y

@ Feor®

(3) @O esbfe (WordArt,)-
(4) 6, womeed

. MS WordeQ ~Alt+Ctrl+S. ety

-1 w¥ReRrdes.
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(1) 1980
(2) 1983

(3) 1900

(4) 1995

(6) .
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14. The word count command on the tool 17 . inMS word is another

bar displays the number of pages, + to make the text larger on

text effe

words as well as number of
the screen

in the current document.
(1) Word Wrap
(1) Characters
(2) Scaling
(2) Lines
3 WordArt
(3) Paragraphs

4) Text Effect
(4) All the above @ _

15. The term MIPS refers to  Alg+Ctrl+S in MS Wo;d is used for

(1) Million Instructions Per Second (1) Single Space lines

(2) Multiple Instructions Per Second= (2) Reduce the selection size

(3) Split the document window

(3) Megabits Instructions  Per

Second (4) Non-breaking space

(4) More Instructions Per Second

. MS word is developed in the year
16. The full form of MODEM :

(1) 1980
(1) Mode Emulator 2) 1983 -
(2) Minimum Emulator (3) 1900
(3) Modulator-demodulator (4) 1995

(4) None of the above
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90. How to update values of formula
cells if auto calculate mode of Excel

is disabled?

(1) F9
@) F8
@) F10
@ TF11

91. Which denotes the range from (1

through G6 in excel?
(1) C1-Gé
(2) CltoG6
(3) C1G6
(4) C1|G6
L
29 Tn a computer spreadsheet, value of
formula (6-2)*2+(4-3)/2 is
(1 8
@) 4.5
(3) 85
(4 4
23. _ type of the chart is
useful to compare values over the
category
(1) Compare Chart
(2) Column Chart
(3) Multiple Chart
(4) Pie Chart
524-S
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are

24. In MS Excel

numbered from 1 to onwards and

__— are named from A to
onwards.

Columns, Rows

Rows, Slides

Slides, Rc;ws

Rows, Columns

- shows a smaller picture
of the printed page directly on the

computer screen.

Slide sorter view

(D
(2) Print area
Print preview

(3)

Small view

4)

. Tiles with a .pptx extension can be

opened using
(1) MS Word
(2) MS Excel
(3) Paintbrush

(4) MS Powerpoint
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97. In MS Powerpoint there are different
views for displaying a presentation,
Match the following views with their
description.

@) Normal (1) A light-table-
type overhead
view of all the
slides in your
presentation,
laid out in rows,
suitable for big-
picture

rearranging

(11) A view with the
slide at the top

- of the page and
a text box below
it for typed
notes

(B) Slide Sorter

~ (iii) A combination
of several

(C) Notes Page

resizable panes
presentation in
multiple ways at
once

(w) The view you

(D) Slide Show
. use to show the

presentation on
screen. Each
slide fills the
entire screen in
its turn

Choose the correct answer from the

option given below :

@ ® ©
Qi) @Gv) (i)
@ @ @)
@) Gv) O
(i) @) G

D)
@

(ii1)
(w)

() *“

1)
@)
@)
)

524-S

allows users to share a
JE—

28.

file by e-mail.

(1) Messenger
2 Draft

(3) Attachment

(4) Chat

_ F-mail stands for "
(1) Electronic male
(2 Electronic mail
Engine mail

3)

(4) Electromagnetic mail

e e

is a small picture

denoting a file, folder or program.
(1) Icon

(2) Pictagram

(3) Window

(4) None of the éiven

(11)
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GENERAL gNGLISH

Direction Read the following
passage and answer the items that
follow (66 - 70). Your answers
should be based on the passage only.

For the great Romantic poets like
William  Blake and  William
Wordsworth, the ‘dark, satanic mills’
of the industrial age threatened to
obliterate for ever their green and
pleasant land, the pastoral idyll of
rural and traditional England.
Novelists like Charles Dickens and
political thinkers like Friedrich
Engels wrote critically of the
inhuman  working and living
conditions of the time, the bleak
homes and the dark, damp and
polluting factories. Others, like t
Indian Saint-Politician Mahatm
Gandhi, combined a moral critique
with a simple lifestyle, living gently
on the earth while deploring t
multiplications of wants that modern
civilization had brought about.

Based on careful research in the
empirical mode, rather than on a
purely artistic or affective response,
some environmentalists argued that
without careful guidance by experts,
industrialisation would rapidly use
up resources and pollute t th
environment. Conservafion was the

‘gospel of efficiency’] the use of

science to manage nature and
natural resources efficiently in th
long run. Crucial here is the 1dea
‘sustained yield’, the belief the
human use of fish or forest, water or
wildlife, should not dip into the
capital stock, restricting itself to the
annual increment of the resource In

questions. By the late nineteenth 68.

century, scientific conservation had
emerged as a global movement, with
foresters taking the lead 1In
establishing resource management
agencies run on scientific lines in
Asia, Africa, Europe and North
America.

(17)

66.

The industrialisation of Europe, and
the settlement and spread of
Furopean population in the New
World devastated large areas of
forest and wilderness. There arose in
response a movement of artists and
scientists which aimed to lock up
areas still untouched to keep them
free of human disturbance.
gometimes the motivation was the
protection from  extinction  of
endangered species like grizzly bear,
at other times the saving of scenic
habitats like Yosemite. Although it
has its outposts in other corners too,
the . wilderness movement has
flowered most ~vibrantly in the
United States.

The author of the essay wants to
convey the idea that environment is

(1) being improved and sustained
(2) being polluted and destroyed
(3) being managed by itself

(4)

causing hindrance to Ll
industrialisation

In the phrase ‘gospel of efficiency’ the
word gospel means

(1) ethical

(2) 1dea

(3) 1inefficiency
(4) principle .

Industrial Age threatened to obliterate
green land means,

(1) develop green lands

(2) increase green lands
(3) augment green lands
(4) destroy green lands -

524-S
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69. The wilderness movement 15 a 72. Thel little boy is stealing the chocolate
movement I (1) The little boy has stolen the
(1) protect endangered species docsiats
(2) save scenic habitats (2) The chocolate bas been stolen
(3) preserve natural resources by the little boy |
(4) all of the above ' (3) The chocolate is being stolen by
the little boy
(4) The chocolate is stolen by the
70. Mahatma Gandhi professed that man little boy

should

(1) reduce wants

(2) increase wants

(3) increase modern lifestyles

(4) enhance modern living

In the following questions (71- -72) a
sentence has been given in
active/passive voice. Out of the four
; A -
glven alternatives, select the one
which best expresses the same
sentence in passive/active voice.

71. He taught us English when we were

studying in high school

(1) We had been taught English
him when we were studying
high school

We were taught English by him
when we were studying in high
school

(@)

(3) English had been taught to us
by him when we were studying

in high school

When we were studying in high
school we had been taught
English

(4)

524-S

In the following question, a
sentence has been given In
Direct/Indirect speech. Out of
the four given alternatives,

select the one which best
expresses the same sentence 1n
Indirect/Direct speech :

. “I gave my son a present”

(1) my sonis given a present by me

(2) my son will be given a present |
by me |
. (3) my son was given a present by 5
me |

(4) my son was presented a present

by me

74. Choose the appropriate prefixes for
the following words in respective
order to form antonyms :

capable, popular, possible, happy

(1) un,in, im, un .
(2) in, un, im, un~
(3) 1im, un,in, un
(4) un,in, un, im

18 .
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76. The judge was quick in delivering hig

Direction For Questions
75 to 78, an idiom or phrase has
been used in the sentence. You have
to choose the which
explains the correct meaning of that
and shade/darken the correct answer
in your answer sheet.

sentence

75. Seeing the police, the theif took to his

heels

(1) seeing the police, the thief'

stopped running

(2) seeing the police, the thief stood

still

seeing the police, the thief
started to run away

seeing the police,
touched his heels

4) the thief

final verdict because, the suspect’s
confession was in black and white

(1) The judge was quick in
delivering his final
because the suspect’s confession

verdict

was unreliable

The judge
delivering his

because, the
confession was in written form

The judge
delivering his
because the suspect’s confession
was just imaginary

The judge

delivering his
because the suspect’s confession

quick 1
verdic

was
final

2)

suspect’s

was quick iIn

final

(3)

verdict

quick 1in
verdict

was
final

4)

was just oral

524-S
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77. She gave him a left handed
compliment
(1) she  complemented  him
. thoroughly
"(2) she appreciated him honestly
A3) she said something insulting in
the form of appreciative words
x (@) she said something strange in

the form of appreciative words

78. Ms. Rita is really under the weather

79.

today.

(1) Ms. Rita is really feeling well
today

v)) "Ms. Rita is really not feeling

well today

(3) Ms. Rita is extremely happy
today

(4) Ms. Rita is really unhappy
today

Direction : For Questions 79 to 81,
a passage has given. Some of the
words have been left out in the
passage. You have to read the
passage and try to understand what
it is about. Then, fill in the blanks
with the help of the options given
below it and shade/darken the
appropriate circle in your answer
sheet.

Test Cricket can be demanding,
mentally and physically. The modern
day cricketers have to get on to the
field ready for a 79 . The
captains have to be 80 in
devising strategies to win the game,
so, it 1s no longer the __81  game
as it was known earlier. |

What is the correct option for the
blank(79)?

Select from the options given below.

(1) fencing
(2) contest~
(3) duel

(4) push



g, p— 7 p—

r E—

T e ol =

80.

81.

82.

83.

‘What is the correct option for the

blank (80)?
Select from the options given below.

(1) close
(2) astute
(3) 1ncongruous

(4) listless

What is the correct option for the
blank (81)?

Select from the optidns given beloﬁr :
(1) easy

(2) rough

(3) fragile

(4) gentleman’s ¥

Identify the error that is sty b
as (1) (2) (3) or (4) given under the
parts of the sentence.

Humans are considered /
(1)

superior than the other life forms, /
@

because of their intelligence. / No Error
(3) (4)

Sridhar along with Shashi /

ey

are leaving/ for work./ No Error

A2) (3) )

524-S
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84, Fill in the blanks with the correct

prepositions._

This hotel

(1) Comprises about
(2) Comprises with
(3) Comprises of v
(4) Comprises

twenty rooms.

Direction In Questior}s
85 — 88, each question contains a
paragraph of 6 sentences. T}}e ﬁ:§t
and the sixth sentences are given in
the beginning and end and numbered
1 to 6 respectively. The four
sentences in the middle are jumbled
and labelled as P, Q, R, S. You must
identify  the proper order/
arrangement of the sentences and
shade/darken the option that
correctly identifies this sequence.
1. Louis Braille was born in
France in 1869.
P. Braille was accidentally blind
when he was 3 years old.

Q. @ was not happy with the

methods of teaching the blind,

which were used in the special
school.

R. At the age 10, he was sent to a
special school for the blind.

S.  He met captain Brabier, who
told him about a night writing
which soldiers could use to read
in the dark. ~

6. Braille decided to invent a

system similar to night writing
enable to blind to read.

The correct sequence is {4
(1) SRQP

(2) RSQP

(3) PRQS -

(4) SRPQ

me/Karnataka_Civil



86. 1.

= O

Rain is very important for

everyone.
In order to overcome the
problem, the municipal

authorities sunk a number of
hore wells.

The rains had failed.

So, all the wells and tanks had
run dry.

As a result, they were able to
supply water to the citizens.
Thus the situation was brought
under control.

The correct answer is :

(1) RPQS

@ QRES)

(3) PRQS

(4) PQSR

87. 1. Prices of essential commodities
have soared up recently.

P. The government is trying its
best to check the unprecedented
rise in prices by opening fai
price shops in rural areas.

Q. But on account of hoarding and
artificial scarcity created by the
unscrupulous traders the price
rise has gone unabated.

R. The people especially people
below poverty line find 1t
extremely difficult to make both
ends meet.

S. Therefore rising prices hav
become a nightmare to the
common people.

6. So the greedy traders are
mainly responsible for the
abnormal rise in prices.

The correct answer 18 :

(1) QPRST

(2) SRPQ

(3) SRQP

(49 PQRS

524-S

88. 1.

(D
(@)
3)
(4)

(21)
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towards the river

A few days ago a boy called Ravi
was playing with his little sister
on the banks of the river
Jamuma.

At the moment two lads who
were returning from school
side ran
quickly to the place.

Few elders near the river side
were also afraid to | jump into
the river and try to save the
child.

The boy was throwing stones at
something in the water when he
tumbled in.

He cried for help, and the little
girl, who was frightened, ran
away, screaming, towards homé.
One of them could swim well,
and he jumped into the river

and saved the drowning child. -

The correct answer is :

RSQP
SPRQ
SQPR

PQRS



89.

90.

. o s}
Choose the correct oOne word 91. Choose the word which 1s opposite 11
substitute for the following sentence meaning to the underlined word in

from the choices given below : - the foll owing sentence :

A person who travels by foot 1s a | | §
War hit cities are loathsome to visit.
(1) pedestrian ~

| (1) Bewildering
(2) footer

; (2) Abominable
(3) Jogger

(4) journeyer (3) Amusing

(4) Delightful ~

Cho’ose the word which is the
-

synonym or nearest to the meaning of -

the underlined word in the following Choosa:ths Srord which ; o i
) 'hich is opposite in

sentence : i
meaning to the underlined word in

The chief guest should not be allowed the following sentence.

to ask impertinent questions.
I had a very lucid dream.

(1) 1mpotent

(1) fantastic
(2) indignant

(3) impudent (2) confusing
(4) irresolute (3) condescending
(4) graphic
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Out of the four groups given, select
groups/group that

the
£ all correct Plural

consistslconsist 0

| formed from singular :

Group A

93.

(a) Story - Storys

() Goose - Geese

(¢ Tooth - Teeth

(d) Foot - Feet
Group B

(a) Knife —  Knives

(b) Calf —  Calves

(c) Potato —  Potatos

(d) Fungus - Fungi
Group C-

(a) Witch —  Witches

(b) Die —  Dice

() Ox —  Oxen

(d) Alumnus - Alumini
Group D

(a) Criterion - Criteria

(b) Hero —  Heroes

(c) Life — Lives

(d) Person — Persons

Select the code for the correct answer

from the options given below :

(1) (A) and (B) only

(2) (B)and (C) only ¢

(8) (A) and (C) only

(4) (C) and (D) only

5248
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Out of the four groups given, select
the group / groups that consist of all
correct feminine gender formed from

the mascuiine gender :

Group A
(a) Duke *— Duchess ‘
(b) Tiger - Tigress
(c) Master — Mistress
Gander — Gandress ol_
Grou;ﬁB
(a) Actor — Actress
‘() Mayor  — Mayoress
(¢) Host - Hostess
(d) King —  Queen
Group C ¥
a) Monk - Nun
(b) Uncle — Aunt
© God _ Goddess
(d) Peacock — Peahen
Group D &=~
Landlord - Landlady
(b) Heir —  Heiress
(c) King - Queen
(d) Dog -~ Puppy

Select the code for the correct answer

from the options given below :

(A) and (C) only
(2) (A)and (D)only <
(3) (B)and (C) only
(4) (B)and (D) only <
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Out of the four groups given, select
the group / groups that consist of all
correct abstract nouns formed from
adjectives:
95. Group A
(a) Great — . Greatness
(b) Brave _  Bravery
(©) Deep — Deep /
" (d) Dark — Darkness
Group B
(a) Beautiful — Beauty
(b)  Broad —  Breadth
(¢ Curious - Curiosity
(d) False - Falsehood
- Group C |
(a) Intelligent — Intelligence
(b) Mature — Maturity
(© Poor - - Poverty
(d) Strong - Strength -
Group D
(@) Angry -~ - Anger
(b) Sane ~  Sanity
(© Luxurious — Luxury Y I I
(d) Vain # Vain

Select the code for the correct answer

from the options given below :
(1) (A) and (C) only

(2) (B)and (C)only w
(8 (D)and (C)only
1@ (A) and (B) only

524-S (24)
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96. Match the following sentences with

the figures of speech used in them:

Figures of
speech
(A) Petér piper (i) Epigram
picked a peck |
of pickled
paper“.

(B) All religions, (i) Anaphora
arts and |
sciencés are
branches of

the same tree

(C) This is the (111)) Metaphor
. beginning of

the end

(D) Give me (iv) Paradox

liberty or give
me death

(E) If we don’tend  (v) Alliteration””
war, war will

end us

Select the code for the correct answer

from the options given below :

@ ® © O ®
1) i) G @ G
2 Gv) @ @) ) G
@) @ (@v) Gi) G o)
@ ) @) Gv G @O v



Directions : For questions 97 - 98,
You have to choose the word from the
“options given below which has the
~ same meaning and can be used in the
same context as the underlined word
‘in both the sentences and mark the

correct answer in your answer sheet:

g97. A: The Judge always considers

arguments which holdwater
B: Unless we put forward a cogent
argument and win it, we can do

nothing in future.

(1) Convincing “
(2) Incoherent
(3) Irrational
' (4) Deniable
The policies of the government

98. A:

must be coherent in such a way

that it should be understood by,

everyone

B: He is more consistent in his

presentation of his new ideas

Choose the word from the options

which has the same meaning as the

underlined word : ‘

99. The students have to be resolute in

setting their goals

Compromising

1)
| (2) Evasive
(3) Determined
(4) Profit and Loss

00. Add a suitable tag to the sentence

given below

The. present generation struggles to
grapple with reality:

| (1) aren’tit?

(2) wasn't it?
doesn’t 1t?

)

(4) Idon’t thejz? o

(1) Lucid

(2) Muddled

(3) Inconsistent

(4) Tllogical
524-S
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